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Instruction to candidates

(a) Write your name and index number in the spaces provided above.

(b) Sign and write date of examination in the spaces provided above
(c) Answer all questions

(d) Candidates should check question paper to ascertain that all pages are printed as indicated and that no questions are missing.

(e) Candidates should answer questions in English.

1. The following are description of features of economic resources. Identify the features that relate to the descriptions in the space provided. (4mks)
Description                                                                                                     feature
(a) Resources are less in supply than what is required by human beings………………………… 
(b) Resources are available in varying quantities at different places        ………………………..
(c) Resources may be put into different uses                                             ………………………..
(d) Different economic resources may be consumed together                   ………………………..
2. Highlight 4 functions of an entrepreneur (4mks)

(a)

(b)

(c)

(d)

3. Outline 4 ways in which the office facilitates safeguarding and controlling of organization’s property
(a)

(b)

(c)

(d)

4. Complete the blanks (4mks)
	Name of document
	Purpose of document
	Issued by

	(a) Letter of inquiry
	
	buyer

	(b) Local purpose order 
	
	buyer

	(c) Invoice 
	To demand payment
	

	(d) 
	To correct undercharges
	seller


5. Outline functions of retailers to consumers (4mks)
(a)

(b)

(c)

(d)

6. State 4 reasons why producer co-operatives are popular in Kenya (4mks)

(a)

(b)

(c)

(d)

7. Highlight 4 ways through which consumers may protect themselves against exploitation by producers and business persons (4marks)
(a)

(b) 

(c)

(d) 

8. Outline the continued use of porterage despite the advancement in transport (4mks)
(a)

(b)

(c)

(d)

9. Highlight 4 circumstances under which face to face communication would be preferable in an organization (4mks)
(a)

(b) 

(c)

(d)

10. Outline 4 benefits that consumers may get from warehousing (4mks)

(a)

(b)

(c)

(d)

11. State types of wholesalers described in each of the following (4mks)
(a) Sell all types of goods                           …………………………………………
(b) Operate on self service basis                …………………………………………
(c) Sell one commodity only                      …………………………….. ………….
(d) Offer products to certain parts of the country only …………………………….
12. Outline 4 risks against which a shopkeeper may insure (4mks)

(a)

(b)

(c)

(d)

13. Highlight 4 circumstances under which a manufacturer would use informative advertising (4mks)
(a)

(b)

(c)

(d)

14. The following balances were extracted from books of Barasa trader on 31st march 2001.
Items                                                   ksh
Bank                                                  1375500

Cash                                                      66200

Capital                                              1540000

Purchases                                             82000

Office equipment                                30000

Stationery                                               800
Debtors                                                1500

Sales                                                    8000

Creditor                                               8000

Required:

Using above information prepare Barasa trader’s trial balance as at 31st march 2001. (5mks)
15. Outline 4 reasons under which stock in a business may change (4mks)

(a)

(b)

(c)

(d)

16. State 3 purpose of operating several ledgers instead of only one (3mks)

(a)
(b)

(c)

17. Give 4 reasons for differences in terms of trade between countries (4mks)

(a)

(b)

(c)

(d)

18. Outline 4 functions of the African development bank (ADB) (4mks)

(a)

(b)

(c)

(d)

19. Demand for money refers to tendency to hold onto money instead of spending it. This tendency depends on. (3mks)
(a)

(b)

(c)

20. The following balances were extracted from books of Makadara traders on 31st dec 2001.

                                                                            Ksh.

Opening stock                                                  55000

Closing stock                                                   60000

Carriage inwards                                               5000

Sales                                                             400000

Returns inwards                                             48000

Purchases                                                     340000

Returns outwards                                            6000

Required:

Prepare trading account for the year ending 31st Dec 2001. (5mks)

21. Give 4 fiscal policy measures adopted by government to control inflation (4mks)
(a)

(b)

(c)

(d)

22. Outline problems that are likely to be encountered by planners as they prepare a development plan at formulation stage (4mks)

(a)

(b)

(c)

(d)

23. Highlight 4 disadvantages of export processing zones in a country like Kenya (4mks)

(a)

(b)

(c)

(d)

24. State 4 advantages of localization of firms (4mks)

(a)

(b)

(c)

(d)

25.                                 Karanja traders

                                     Balance sheet

                                     As at 31st Dec. 2004


Land and building                  777000               capital                                 900000
Motor vehicles                       666000                Add: net profit                   282000
Furniture                                100000                                                          1182000

Stock of goods                        90000                 loan from ICDC                 400000
Stock of stationery                  12000                 creditors                               47000
Debtors                                   58000                 salary owing                         13000
Cash                                        16000                 bank                                       8000
Insurance in advance                4000
                                               1650000                                                       1650000
 Determine the following:
(a) Working capital (2mks)
(b) Return on capital  (2mks)
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